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Wl &5 §Ear : 100
; .
Time :25 Hours Full Marks : 300
1
o 2 wve - - qoTiF : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
tsolx}ﬁcotha-AandminSocﬂon-BLAttemptasmany
questions as you can. Each quiestion carries 3 (three) marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question,

¥ I-giaw § gw 100 () v ¥ (wee- o F 30 7
T 7 70 )| SERes gt B eq B w A EY
n@m.ma(ﬂq)dﬁaﬂﬁlmmmﬁmqw
ST BT T | TAF AT A HAQAE g B

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one,

qﬁwﬁmmmﬂﬁwﬁﬁwmﬁ,ﬁrm
el J9T &
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SECTION - A
gvs - H

01. The most important factor that makes class room teaching more

interesting is : .

{1) content of topic (2) lesson plan

(3) teacher’s personality (4} teaching method
mﬁq@ﬁaﬁeﬁtﬂﬁaﬂﬁwmﬁnﬁ'ﬂm%:
(1) we & faugay] (2) 9= AT

(3) P &1 =R (4) deM @ &

02. What do you consider as the most effective step 1o control the lower-
ing of standard of Education ?

(1} Have more teachers.
(2) Impart better training to teachers.
(3) Qualitative improvement in the overall education system.

(4) Parental awarencss towards children’s homework.

ﬁm%mﬂﬁmzﬂmwﬁﬁﬁ%mmﬁ?&m
THIESTER 399 "G & 7

(1) =T R @
(2) R @ Feaz gfaeer R

(3) Gww fRen gafy § JOTR g S
(4) aaﬁ%qamﬁuﬁfw-ﬁmﬂmw
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03. As per Continuous and Comprehensive Evaluation (CCE) ~ Compre-
hensive means :

(1} Assessment of only educational development of the child’s
personality.
(2) Assessment in scholastic as well as co-scholastic aspect of the
pupil’s growth.
(3) Assessment of scholastic aspect only.
(4) Assessment of co-scholastic aspect only.

PR @ #I9% qe9i% (CCE) & R =nas o1 o & -
(1) ¥=3 & =ofdae B Daw AwE e = Fafor

(2) el 3 Rerw % A B g-ww G-t g W W
et

(3) Haw s weg F frafror
(4) Faw we-Afew geg 7 Fraior

04. Who is an effective teacher ?
A teacher :
(1) whose class is disciplined.
(2) who asks questions in the class.
{3) who teaches with énthusiasm in the class.
(4) who makes his subject méfter readily comprehensible.

B T AEIR SEGE & 7

U HAEIF

(1) P s srgafye @

) S @ & WeT qeaT 8

(3) St I@E | SBET B
(4} St RreEeg & Srem gEwEr o

5 | P.T.O.
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0S.

06.

07.

Teaching should be :

(1) curriculum centered. (2) child centered.
(3) teacher centered. (4) society centered.
F e e~

(1) W%ﬁﬂﬁmmﬁﬁl (2] STBlET BT TS |
(3) IAAF Biegd AT aNed | (4) U Bfad sMT el

Suppose a student suddenly makes noise in your classroom, what
will you do ?

(1) I will give him punishment.

(2) I will ask him to go out.

(3) I will ignore.

(4} 1 will call his/her parents.

aT AT ST FHaT # oTaEs UE B AT MR §, Y 0
H ?

(1) o 3@ zfoeq wmem|

(2) H 3G W A Bl HE

(3) ¥ == FE T

(4) ¥ gud frras @l AW |

The most important factor in learning is :
(1) teacher's teaching method. (2] parent’s cooperation.

(3] student’s will to learn. (4) learning material.
e N G dEEE FEE ©
(1) Py @t faeror fafer (2) TREE & FEEIT |

3) o & @ B S| (4} arferE @t |
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08. If majority of students in a teacher’s class are weak in their studies
he should ; :

(1) ignore them.

(2) take care of bright students only.

(3) continue his teaching as he was teaching.

(4) keep his teaching slow and give some extra guidance to bright
students. ’

A% U AAH K FEw 7 Aftepter s Iuelt werd ¥ e &
@.

(1) B98I 9SG HTT Tfed |
() Pas FIW BSEAT W & &= 377 2D
(3) Y= et Sl @ =i

(4) aﬁﬁmﬁﬁaﬁ@mmgmﬁﬁ@mﬁﬁaﬁ
FRYE WaF &G qifed |

09. What a teacher should do #f he has to maximize students’ participa-
tion in teaching ?

(1) he should give more lectures in the classroom.
(2} he should initiate classroom discussion on the topic.

(3} he should ask students to read textbook in the classroom.
(4) he should use audio-visual equipments in the classroom.

uﬁ@mﬁmﬂmﬁmﬁmmﬁﬁrww
HE =Y ?

(1) I R it sream 27 =ifed |

(2) 30 Rvg-gwg 9T o R s iy |

(3) S/ TN F JEB B AT FA B A =Y |
4) ¥ T F gy B Eheh o SwET S ey

7 P.T.0,
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10. Which of the following qualitics in a teachers is most admired by

11,

12.

13.

students ?
(1) Punctuality (2) Strict sense of disciplines
(3) Impartial attitude (4) Self confidence

wEl a|r Red Ree @ e g S 98 S geier @ Sl
g7

(1) g (2) EEd AT B AEA
(3) Frreqer <= @) sTHfaEE

Sarva Siksha Abhiyan had aimed to provide quality education to all
children of 6-14 years by :

(1) 2008 (2) 2012 (3) 2010 (4) 2014
AR A o @ed a1 gt 6-14 g% F sl WO
farer &

{1) 2008 T® (2) 2012a®H

(3) 2010T% (4) 2014 <

Document ‘Learning without Burden’ was published in :

(1) 1991 (2) 1993 (3) 1992 (4} 1994
i Rraeee S8 SISl S g4 ¥ |
(1) 1991 % (2) 1993#%  (3) 1992H (4) 1994 ®

NCF 2005 has how many curricular areas ?

UG rEFEE 2005 & R Qe 8 B 7
(1) 20 (2) 23 (3) 21 (4) 24
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14. ‘Eklavya’ organisation has developed a different approach to primary

education. |
{1) In Madhya Pradesh (2) In Maharashtra
(3) In Kerela (4) In Rajasthan

‘THE’ G A grafte BT & oS o1 Ui @ IIRH H
R BT

(1) W= s_er # (2) werng #
@) F@ A (@) TR

15. Which country will host the 2017 World Environmental Education
Congress (WEEC) ?
(1) Canada (2) India
(3) TItaly (4) USA
2017 988 TN TR B9 (Sx3.5.0.) A Jnwrh AW
3 FW ?
(1) T (2) W@
(3) ¥=eh (4) goEm.

16. Sri Lanka has recently launched a website PERU to create awareness
on reconciliation among children. What is the full form of “PERU” ?
(1) Peace Education and Reconciliation Union
(2) Peace Education énd Reconciliation ' ity
¢ S——m

(3) Peace Education and Reconciliation Unirary
(4) Peace Education and Reeonciliation Unit

P.T.0.
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fioiepr ¥ A+t g F & PERU A9 @ dQ@IEE HI WTH J=di |

TR B9 & Sy SIS I~ HA &g BRar ? PERU &1 G
B A B ?

(1) b vo@ew ovs Frpdfaaas g
(2) 98 To@ee ooe Rl i
(3) drE wedEe wre R gl
(4) drg e wee Rendifeeas gie

17. Which state government has provided free Wi-Fi facilities to his edu-
cational institutions ?

(1} Kerela (2) West Bengal
(3) Bihar (4) Orissa

A A U A B A YA AT B GO 918 BR Hl gia
e & 8 ¢

(1) a (2) 9fe=T TS
(3) e (4) SerEl
18. Who has won the 2017 Global Teacher Prize ?
(1) Salima Begum (2) Ken Silburn
(3) Raymond Chambers (4) Maggie MacDonnell
Rret 2017 § frea oream® geeam Shar & 7
(1) & S (2) @4 foeres
(3) v = (4) ®ht AmSAe

19. Who is the Present director of NCERT 7
{1) Prof. J.S Rajput
(2) Prof. Parvin Kiran Sinclair
(3) Prof. AK. Sharma

(4) Dr. Hrushikesh Senapathi

10
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21.

22.

170/92/30(i)

g § AR E AR S PRy e & ?
(1) SN.9.QF. TAg '

(2 9. W fpeer FaeeiaTt

(3) W.u.®. em

(4) =T. BWREPY JFANGl

Which state government has made Sanskrit compulsory up m' class
VIII in all classes ?

(1) Rajsthan (2) Assam
(3) Guijrat  (4) Keaela

Mohan goes 15 km towards North, then turns left and moves 10 km.

Then?he turns left and moves 15 km. In which direction he is moving
fnow

(1) North (2) East (3) West (4} South

HE 15 Bl s Rem # awen @1 R 7 41 g3 9w & o 10
Rdl. aerar 81 R &f) gt 15 el aoar B o qe R Rar 3
R R

(1) I\ 2 = (3) qfEw (4) wferor

E is sister of B, A is father of C, B is son of C then what is the relation
of A with E ?

(1) Grand father (2) Grand daughter
(3) Father ' (4) Grand mother

11 | P.T.O.
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23.

24.

25,

26.

E,BHETET 1A C H RAT B 1B,C & JH & T4 A & § E 7
ey & 7

(1) =T () el

(3) M (4) =TT

P and Q are of same age. R is younger to S. T 1s younger to R but
elder to P. who is the eldest ?

Pl QWY B FWET TIR,S A BT BIT,R A BIer & Bog P
Far iy g HAE 7
(1) P 2) Q (3) R (4 S

If PAIR is written as OCLV then TOWN will be written as ......

af> PAIR & Fr¥ ocLv frar wmd & TOWN & f&d @ e
AW ¢
(1) SQZR (2) QSZR (3) UQZR (4) VPZR

According to English Dictionary which of the following word will be
on 4t place ?

S qEFY & oER Prm d ] & @ g% 9 W\ W
B 7

{1) Encradle (2) Encourage
(3) Encroach (4) Encounter

If the seventh day of a month is three days earlier than Friday, what
day will it be on the nineteenth day of the month ?

(1) Sunday (2) Monday
(3) Wednesday {4) Friday

12
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27.

29'

17U/92/30(i)

i w1 F Hiaat BT gFpaR § 49 R wsd gz ¥ @ o W
S=irar &= = emn?

(1) @ (2) EhErR
(3) gHEX (4) FPaX

If it was Saturday on 17® December 2002, what was the day on 22
December, 2004 ?

(1) Monday (2) Tuesday

(3) Wednesday _ (4) Sunday

i 17 RErar, 2002 9 sift@re o, & 22 R, 2004 2 B By
qr 7 ,

(1) AEErR (2) wi;raaw

(3) F¥AR (4) WER

- If you write down all the numbers from 1 to 100, then how many

times de you write 3 ?

aﬁmi%laoamﬂﬁaﬂ.aﬁm#rmmsmmﬁ?
(1) 11 (2) 18 (3) 20 @) 21

A is 3 years older to-B and 3 years younger to C, while B and D are
twins. How many years older is C to D ?

A, A& 3af wmr ¥ ol v @ 3 of ey B, o g P
% R o qr k7 N

(1) 2 @ 3 @3 6 4 12

13 P.T.O.
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30. A is three times as old as B, C was twice as old as A four years ago. In
four years time, A will be 31. What are the present ages of Band C?

F, A Y e e a9 B, @, F q AR e ged QAT T97 A1) AR
aéﬁama?aﬂéaﬁmaﬁmﬂwﬁamﬂaﬁmw
g ? -

(1) 9,46 (2} 9,50
(3] 10, 46 (4) 10, 50

14
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SECTION - B
T - §
31. Sunkened stomata are found in leaves of :
(1) Neem , (2} Pinus
(3) Eucalyptus (4) Lotus
Foashl uiRedl ¥ of gq o ol o ¥ ?
(1) (2) UETH
(3) Fhirew (4) FAa
32. Glycolysis takes place in °
{1) Ribososmes {2) Cytoplasm
(3) Mitochandria (4) Nucleus
IR H uied Sar B ?
(1) WEEEry (2) PRFT =
(3) wTESEmIREaT (4) HEF
33. Which light is most affective during Photosynthesis ?
(1) Green (2) Violet
(3) Red (4) Blue
m#ﬁw%mﬂqwm%mm%?
(1) =&x (2) "
(3) e (4) i
34, Formation of fruits without fertilization is known as -
(1) Polyembryony '(2] Parthenocarpy
(3) Parthcnogcncsis [4] Polygamy
R e gT %t & a9 e & -
(1) SgHerT (2} 9ISt
(3) grEANRATEE (4) urcinf
15 . P.T.0.
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35. Winged pollen grains are found in :

(1) Pinus (2) Cycas

(3) Gnetum (4) Eorphorbéa
| dEgE W e e # 7

(1) TE7q (2) THFH
(3) HieH (4)  JUHrEIr

36, Bacteriophages are¢ :
(1) Bacterium.which infects virus
(2) Human infecting virus
(3) ~ A type of cyano bacterium
(4) Virus which infects bacterium
fefEdsT ea ¥ ¢
(1) Frewy % d@bia B arET ATy
(2) AFG T G B AT ERI
(3) @ SR N WEAATREEH
(@) ofamy @ Heha HTA I A

37. Late Blight of Potato disease is caused by :

’ um udems
(1) Phytophthora infestans (2) Fu,sanmr.n ‘
(3) Alternana aiternata (4) Alternaria solan
ﬂ@ﬁwﬁmﬁ%ﬁwmﬁmﬂ‘«waﬁt%?
(1) R FhEee (@) IR S=H

(3) e ERar Seeiael (4) AR Fe

16
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38. Colchicine is used in production of :

(1) Haploids - 2) - Polyploids
(3) Mutants - . (4) Protein
HIERIE B TA Read w ¥ Rear o 7
(1) Srgfewr @ sgPw
@) SoReft (4} e
39. Example of total stem para site is :
(1) Nephenthes (2) "Santalum
(3) Cascuta (4) Orchids
Tt T oot #r gaeTor § -
1) Ry . (2) &7
(3) Fwger | {4) omfagy
40. Circinotropous Ovule ia found in :
(1) Opuntia . @ Lotus
(3) Brassica {4) Pea
TN 9 31 diees ey P 2
(1) - (2) ==
(3) Sy (wm) (4) weT
41. Primary precursor of Indole Acetic Acid is :
(1) mpt_?blwn (2) Methionine
(3) Tryosine (4) Leucine
oI @R s B gl §
(1) ferda (2} ARrieR
(@) N (4) sgE
17 ! P.T.0.
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42. End product of glycolysis is :

43.

45.

(1) Ethyl alcohol (2) Pyruvicacid
(3] CO, (4) Glucose
TFRTATEY 1 eI IO ¥ o

(1) SURS oTcepIes 2) fusfaes spa
(3) HEA SEIACHERES (4) TeIERIST

Cork is impermeable due to deposition of :

(1} Suberin (2) lLignin

(3) Resin (4) Tannin
fore® THEITYT & FHIROT B HITCETI BT 8

(1) gar= : (2) fEfae

(3) W (4) A

Coffee Plant belongs to the family :

(1) Rubiaceac (2) Apocyanaceac
(3) Solanaceac - (4) Liliaceac
FIE 1 Gy Rhe HT BB 7
(1) sl (2) CREEEE!
(3) dArEt (4) ferfemady

Inscct responsible for transmitting Dengue fever is :
(1) Anopheles stephensi

(2) Anopheles culicens

(3) Aedes aegypti

(4) Culex pipiens

18
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] §OR 3 FER B R SwErh #e

(1) gy @

(2) TR FE

(3) Qs et

() o W

Crop milk to nourish the young ones are produced by :

{1) Male pigeons ' (2) Female pigeons

{3} Both 1 and 2 {4} None of them
aﬁ'ﬂ:‘ﬁw%ﬁl&‘iﬁqhﬁ’ﬁmﬁmmm?:
(1) B O (2] WY YR

(3) 13 2 Q= 4) 7 & 9

Kind of epithelial tissue fu'un_d in the wall of buccal cavity of human
are ; &
1 :
(1) Squamous and stratified {2) Cuboidal and stratified
(3) Simple squamous (4) Simple cuboidal

W%‘m%ﬁﬁ’%ﬁmﬁwaﬁwmﬁwﬁrm:
(1) =E o RduEs 2 FEEET T @fvEe

(3) |W wwvw (4) S FgEgsT
. Widal test is done for detecting which of the following disease ?
(I} Tuberculosis (2) Typhoid
(3] Cholera (4) Scarlet fever
19 P.T.0,
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Prefaftae ¥ F P Sl & g A @ R e dw e

ST 8 7 .
(1) TgEREHEH (2) TEABES
(3) HAT (4) ®HEE FET
49. World’s AIDS day is organized every year on :
(1] 6% December | (2) 11% December
(3) 1% December (4) 31" December
R wgw Raw was af 7T o R |
(1) 6 Rw=Y 2) 11 RE=R
(3) 1RE=R (4) 31 =Y
EO. Which is called the rhythmic phenomenon that occurs cvery 24 Hours ?
(1) Circannual rhythm (2) Circadian rhythm
(3} Circular rhythm | (4) All above
SriaE ST O WA 24 A H & ¥ -
(1) @Y FATE (2) G@YA AAAE
(3) WIFER AeEE (4) SulE /A
51. Ichthyophis ia : N
(1) Afish - (2) An amphibian
(3) A reptile (4) A mammal
TR = B
(1) TH Hol (2) UH IHAAL
(3] @ gy (4) TH T
20

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



17U/92/30{i)

52. Book lungs are respiratory organ of :

(1) Scorpion (2) Cockroach
(3) Human ' - {4) Cats
Rrefefary Rreer o oi% ‘g s B
(1) =g 2 R
(3) #FH (4) T
53. Gluconeogenesis is the process of production of glucose from :
(1) Fats only (2} Carbohydrates only
(3) Fatsand protein (4) All above

AR Rrefifye ¥ & fewd wgeior 37 A % T
e .

(1) daw qEr @ @ Faw @

(3) @& 3T MEH 4) SogEa |9
54, Silverfishis:

(1) A Cartilaginous fish (2) A bony fish

(3) An arthropod (4) An Amphibian

et fvr 8 ¢

(1) T Iqreehi Bher ) wmm

(3) TEH ETaE (4) TFH CRAEE
65. Nematocysts are found in :

(1) Porifera (2) Coelenntrata

(3) Nematodes {4} Annelida

21 " P.T..
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56.

57.

S8.

(1) TRGBA 2) @SR

(3) FHAersq (4) ufHfereT

Kreb cycle takes place in :

(1) Ribosomes (2) Chloroplast

(3) Mitochondria - (4) Endoplasmic Reticulum
e =% fhad ufed gar & ?

(1) dzdrarg () &Ra s s

(3) WEEgar (4) o=renfas snfer

How many nucleotides are found in a codon ?

TF Hre™ H o Yaeiders ok 2 ?

(1) 2 (2) 3 (3) 4 (4) 1
Kalazar is transmitted by :
(1) TseTse fly {2} Dragon fly
(3) Sand fly (4) Fruit fly
Frerenx =1 & g0 gaia 8. ®
(1) & &, g (2) T wR
@) 8= wg (4) T T
22
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§9. Following is a complex molecule that contains genetic information :
(1) DNA (2) RNA
(3) Protein (4) Oleic acid

ﬁmﬁmﬁwaﬁam%ﬁaﬁ.aﬁﬁzﬁwﬁﬁa%-:
(1) ¥ @ . O ~ (2) K. OF. Q.
(3) WA | 4) s oS

60. Most widely used and controversial ﬂgvor enhancer is :
(1) Monc;sodium prnpionéte (2) Sodium propionate
(3) Sodium benzoate (4) +Monosodimn glutamate
gy g R g a9 @
(1) ARERET e (2) AFEw SARERE
(3) wifegw F=iee (4) AERIEI GEHE

61. Red palm oil is a source of :

(1) Ascorbic acid (2) Riboflavin .
(3) P -carotene {(4) Calciferol
ars & @ Frefarad & @ 8
(1) UEplees I (2) TEEGAEGT
(3) H-HIAT @) FeBAN
23 : P.T.O.
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62. Give a scienti '
scientific term for ‘cracking at the angles of the mouth’.

(1)  Glossistis (2) Angular stomatitis

{3) Dermatitis | (4) Pellagra

TE % B B B B R agwr dmnfe o D

(1) wraEfey (2) TIgET ey

(3) sHemsfew (4) e |
63. Angora wool is made from hair of

(1) Goat (2) Rabbit

{3) Sheep {#) None of the above

T T Frfofag & & s ot & a9t @

(1) F5H& (2) G

(3) Az (4) SugwT ¥ & wF wE
64. Denier is the term applied to the strength of ;

(1) Fiber (2) Yarn

(3) Fabric (4) Cotton

s s FrafaRea @ amed 39 yger e & -

(1) @ (2) A

(3) e (@) e

24
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65. The only fiber which contains sulphur is :

(1) Cotton | (2) Jute
(3) Silk (4) Wool
wmwmmt'm&n %
(1) A @) T
(3) WH @) S

66. Genetic make of a person is denoted by :
(1) Phenotype {2) Genotype
(3) Genetics (4) None of the above
frel safr @ Tl SR Pl & g Brar & -
(1) Py 2) R

(3) T (4) Suda § |/ 2§ T

67. AIDS stands for : ,
(1) Acquired immune defense system
(2) Acquired immune defense syndrome
(3) Acquired immune deficiency syndrome
. (4) Assured immune deficiency syndrome

TgH & of T ¥ ¢

(1) wEmd $g7 W R

(2) wFad g Rew REEW
(3) wwaEd $A RiERA=h
(4) e g R e

28 P.T.O.
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68. Light and dark stripes on a Zebra rug tend to create :

(1) Harmony {(2) Rhythm

(3) Confusion {(4) Excitement

TF ST B T B @ M) iRk g wed ¥ -
(1) STgEgar (2) «F

(3 ¥H (4) ScarE

69. Batik printing originated from :

(1) Java (2) Japan

(3] India (4) None of the above

e BT @ Frafafes @@ & so g3

(1) ST (2} SImqIE :

(3) ¥R (4) IWGF F § w7
70. The unit of measuring electric resistance is :

(1) Ampere (2) Ohm

(3) Volt (4) Walt

Rga gfedy Aq @t 3HE B

(1) gz (2) onH

(3) drE (4) I

71. The complete path through which the current travels from one terminal
of the generator to other is known as :

(1) Open circuit (2) Closed circuit
(3) Short circuit - (4) Ground circuit

26

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



72.

73.

74,

75.

17U/92/30(i)

FRe & UH <ifa A I efiEe o@ fEEd g9 s U 9™

HEATA &

(1) s "fhe (2) &AoE @iHE

(3) I e (4) MIT "

Which if the following is an cxamplclof individual approach :
(1} Group meeting (2) Lecture

(3) Workshop (4) Fair

Prefafag # v\ 6 AR o 8

(1) amfEs T (2) AT

(3) epTET (4) Few

The half life of trittum (Hydrogen-3) is 12.3 Years. After 49.2 Years
48.0 mg. of tritium will remain :

(1) 6.0mg (2) 3.0mg
(3) 12.0mg (4) 24.0 mg
gEgIa-3) #H 0y 12399 &) @ 48.0 .77, @l
%::{ e(fg.zatf aﬁ) T 3
(1) 6.0 %t.ar. (2) 3.0 Ht.ar.
(3) 12.0 #H.a. (4) 24.0 T

Among H,0, H,S, H,Se and HT, the substance with the highest
boiling point is :

H,0, H,S, H,Se and H T, Tarel % TeQ i Fauis I 8 :
(1) H,0 () H;S (3} H,S, (4) H,T,

The hcat- of neutralization of an acid A with a base B is 13.7 kcal.
Which of the following is true :

(1) A is weak and B is also weak
(2) Ais strong and B is weak
(3} A is weak and B is strong

(4) A is strong and B is strong

27 P.T.O.
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fFET a7t A T &t B Y Serdisfer o=t 13,7 fe. 3= 2
Frefcfaa § @ 9 581 8 ?

(1} A 3T B 3} gdwr 2
(2) A 999 X B =4l goier &
(B) A F&« 3IX B ¥aw &
@4) A oMT B A UuT B

T6. Eificiency of a heat engine between 400K and 300K is :

fhell ST 89197 Wt 400K AT 300K B A @=@r arf o
(1) 1.0 2) 0.75 (3] 0.5 (4) 0.25

77. 8g of CH, and 2g of hydrogen are mixed and kept of 760 mm pres-
sure at 273K. The total velume occupied by the mixture will be :

(1) 11.2 litre (2) 22.4 litre
(3) 33.6 litre (4} 44.8 litre

8¢ AT 2¢ T EESISA H ez 760 Hieft et qam@ T 273K
a9 9T @ RAT T AT @ He A en

(1) 1128 (2) 22.4 7T
(3) 33.6#T | (4) 44.8 ¥IET
T8. Which of the following liquids has the maximum viscosity :

(1} Water (2) Acetone

(3) Ethanol {4) Glycerine

Frefefiga & & e ave werf 4 wrar 998 afas & 7
(1) 9 (2} GHEH

(3) &I (4) TERITEE
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79. The paramagnetism is duc to presence of :
(1) paired electrons
(2) unpaired electrons
(3) both paired and unpaired electrons
(4) none of these

SR B SarRafy B HTT
(1) grwa gEEe

2) YT T

(3) =t gftng AT argfad e
(4) adEa ¥ | Ag T8

80. Where liquid boils, its vapor pressure becomes equal to
(1) one atmospheric pressure  (2) zero
(3) wvery high (4) wverylow

57T S A% I SadT ¥, I9E a1 91 GHH € S ®
(1) % agECSHE @l b 2 TIF

@) wge ST @) W
81. For which of the following equilibrium equations will X_be equal to
K, ?
Prefiferr # Rre ara gfer & K ol K, w9 e 7
(1) -Pelgs=2Pd, +dcl, (2) COCL=2C0+d,
(3) H,+L=>2H] (4) 3H,+N,=2NH,

39 P.T.O.
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82.

83.

84.

For the study of distribution law the two solvents should be -
(1) miscible |
(2) non-miscible

(3} volatile

(4) reacting with each other

T Fram & oregs F A9t R g .
(1) Pem grg -
(2) I & gy

(3) areqsfie

(4) @F T B fBF FE g

For one component system, at tri i
. , riple
freedom is - ple point the number of degrees of

(1] ZEro . (2) one

i 4) three

58 0% ge% UBia # & @t 3 :

AR RN SN TEE @ fag g7 B3 eme
i} ¥ (2) @H

@) = (4) =

Which of the following does not affect the rate of a chemical reaction ?
(1] enthalpy of a reaction

(2) concentration of reactants

\3] temperature

(4} surface area

P & & A Rl et B @ g @

(1) 18 TertE st 3 <o
(2) ATEHE H FGizar
(3)

(4) Hata@sltsa
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85.

86.

87.

17U/92/30(i)

Which of the following has the maximum coagulating power for AS,S,.
Pb*, Al*, Ba* ,Na’

aﬂﬁﬁaﬂs,%maﬁmﬁﬁamﬁaﬁsﬁﬂm

=i

st e e

Pb*, A1* , Ba™ , Na'

(1} Na’ (2) Na* (3) AI* (4) Pb*
Whe:namaﬂquaﬁtyofﬂclisaddedtoamixmmofaodiumacctate
and acetic acid (equimolar), the pH value :

(1) increases | (2) decreases

(3) remains Same : (4) increases abruptly

(1) =gm ¥ (2) weem
(3) @ & B (4) THITH AT 8
Find the effective capacitance between the points A and B in the

circuit given below :

frey 3 RR ofter ¥ A ma Reg B & e SRl aiitar s

quF |8pF
=i B
Yy
- 8uF
(1) 12  (2) 375uF (3) 6yF [4) 5.3 uF

3 1 P'T‘IOG
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88, If the fluxe of magnetic induction through the coil of N turns changes

89.

In any way in a time t from $,to ¢,then the charge q that flows

through the circuit of resistance R connected to the coil in series is :

wnﬁ%ﬁaﬁaﬁrﬁtmﬁWMmem
q ¢, ¥ qitaffa &iar @ @ omdw q S 9Rgy & 2 g2 afedw R
ﬁﬁ"sﬁﬁﬁ&“ﬂ'ﬁﬂ?ﬂﬁ,mﬁl’ﬂ:

Nig-4) é- ¢,
(1) (R @ R

A capacitor whose capacitance is 1yF is charged to S0V. The charg-
ing battery is then removed and a coil of 10 milihenry is connected in
parallel with the capacitor so that LC oscillations occur what is the
maximum Current flowing through the coil

{Assume that the LC circuit contains no resistance)

T R fFraat qiftar 14F 8, I/ 50V as emafdw Rear sar B
D IR N HA At P P gert w10 et 28 6

Foeel dufy $ qafax & et owar & Bred L S| BT 2
goeet § A Siferam B Rl @ gae a7

(79 & @& LC oftuer & % wRdy ¢t ®)
(1) 050Amp (2) 1.5Amp (3) 5.0 Amp (4) 15 Amp
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90. In a series L - C — R circuit the sharpness of resonance for fixed

resonance frequency increases with :

(1) increasing value of resistance R

{2) decreasing value of resistance R

{(3) dcwm- value of inductance

(4) increasing value of the capacitance

a Rydiet LOR 9Reqg § Praer argems omgfe & Rl Srgeme e
T 8-

(1) @AY RF 77 754 | (2) @Y R o w24 |

() FERE S UM A ] (4) IR B AW TG

91. Indicate the false statement about the conditions for interference of
light waves :
(1) The two waves must be in the same polarization state
(2) The light sources of two waves must bc coherent :
(3) The frequency of the two waves must be same
(4) The direction of propagation of the two waves must be same

T S @ ST W Rufy & B & @ Taa e & R
HC .

(1) &Rt a0T T § GRAERET |9 # @

(2) & FE B gHw W * dwpar @

3) A TEH B g oF & A

(@) RV &N A AR R o & B

33 P.T.O.
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92.

93.

94.

9s.

P.N. Jundian diode can not be used as
(1) rectifier (2) demodulator
{3) oscillator (4) modulator

ﬁ.m.ﬁaﬂamaﬁaﬁ%m‘waﬁmwm:

(1) Vrprag (2) FEritegmer
(3} onflAeT (4) gAY

g;w many two input NAND gates are required to design a two input
gatﬂ ) - E

&rmgaonﬁza?rfaasaaﬂ%ﬁﬁmﬁasﬂgamnnﬁaﬁ
HIFTFHT & ?

(1) 2 (2} 3 (3] 4 4) S

A transistor having « = 0.975 and reverse saturation current I, =10pA
1s operated in common emitter configuration. If the base current is
250pA find the collector current :

TE FTET BEE 2 =0975 & ofew d@gfa e 1 =104A B @
JaeT 0F IWAPrSs Iereld @R ¥ @ e ) orie et
9 250pA B o1 E@AES 9T B A B-

(1) 10.15 mA {2) 9.25mA
(3) 10.45 mA (4) 9.65mA

thich one of the following particles cannot be accelerated to very
high energy using cyclotron :
{1) Proton (2) Deuteron

(3) electron (4 Particles

34
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96. Water from a tap emerges vertically downwords with anzin.iﬁal spe?d
of 1m/sec. The cross sectional area of the tap is 10*m pressusec 1S
constant throughout the stream of water and the flow is steady t‘hen
the cross sectional area of the stream 0.15 meter below the tap 18 ©

o Y o o R | | o iy ¥dvs & ARles a1 & P T ¥
o & g F 107 m’ ¥ 1 e TR ge R o v e P s
3 @z o ¥ @@ gem R R O 0 g e, 0.15 Hrex A= e

(1} 5.0x10%°m’ (2) 5.0x10*m’
(3) 1.0x10%m’ 4) 2.0x10" m’

97. In a given process of an ideal gas dW=0 and d@ <0 then for this gas
after the process :

(1) the temperature of the gas will increase
(2) the pressure of the gas will increase
(3} the temperature of the gas will decrease
(4) the pressure of the gas will decrease

et ey B Pt SRR F dw=0 T do<o ¥ & @ wfwn 3

99
() " N amEe F8W 2) g @ =\ W@
(3) G &1 A HEW (4) g = == TR

35 P.T.O.
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98. An ideal spring with force constant K has been hung from the ceiling
and block of mass M is attached to its lower free end. If the mass M is
gently released with the spring initially unstreched then the maxi-

mum extension in the spring is :

Th st fai (S Fradis k) B o @R aewar a9 B sl
TH SF (91 M) 39S @A BIT T §AAT B o M A a1 |
Eﬁamﬁﬁ’rﬁﬁwﬁaﬂfﬁﬂﬁq(g@ﬁfwﬂﬁﬁ%f@ﬁmﬁﬁ)
Raema & -

(1) Mgk (2) Mgk (3) 4aMg/k (4) 2Mgk

99. A beam of light is passed through a quarter wave plate. The cmergent
light can be made to suffer complete extinction by rotating the Nical
prism, placed in the path of the emergent bean of light. The incident
beam of light it ;

(1) plane polarized ~ (2) analogized

(3) circularly polarized (4) elliptically polarized
mrmrﬁlﬁmg‘ﬁr@ﬂamaa@zﬁmwmrﬁtﬁm
3 Sb1eT G Fihet oo, S seer 91 & IR H @ B, @ gy
T8 T fager Rear o e B 3= g g o

(1) e g § (2) g ¥

(3) MaEER yfea & (4) . gfafremett giaa
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100. At any instant of time in a sample of ratio active substance 25% of the
nuclei are still disentegrated. After 10 Sec. from now the number of
disentegrated nuclei becomes 12.5%. The average life of the nuclei
for this radio active subestance is :

(1) 10 sec. (2) 7.25sec. (3) 14.43sec. (4) 18.37 sec.

Bl W o I uika e @ TR 7 25% sifafa e
¥ zu@ 109, T o T § s <R e 12.5% ® I
E:rmmmm%aﬁaﬁaﬁaﬁwmw%?

(1) 109. (2) 7.259. (3} 14.434. (4) 18.37 9.

37 7000
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ROUGH WORK
% &
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